Trigonometry Word Problems…Examples

For each question draw a diagram and decide how to solve the problem. If you want, go ahead and solve it.
1. Two fire towers (A and B) are located 10.0 km apart and the ranger at each tower spots a forest fire. The ranger at tower A measures the angle between tower B and the fire at 23.  The ranger at tower B measures the angle between tower A and the fire as 76. How far is the fire from tower A?

2. A geographer needs to measure the distance between two towns located on either side of a mountain. From a distant position P (where he can see both towns) the distance to one town is 8 km the distance to the other town is 9 km, and the angle between the two towns is 32.  What is the distance from town A to town B?

Trigonometry Word Problems…Practice (answers below)
1. The buoys that mark a triangular course for a yacht race are located at points Y, T, and B. If 
YT = 5.5 km, 
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Y = 55º, and 
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T = 75º, determine the length of the course.

2. An isosceles triangle has sides that are 4 cm, 10 cm, and 10 cm long. Determine the measure of the equal angles.

3. Using sonar, a boat captain detects a school of fish at a depth of 65.5 m. The angle of depression of the sounding is 18º. How far will the trawler have to travel to be directly above the school of fish?

4. A 25 m cell phone tower is supported by wires on opposite sides. The wires are anchored to the ground at a distance of 16 m (on each side) from the foot of the tower. What is the angle of elevation that each wire makes with the ground?

5. A runner estimates that the slope of a steep hill makes an angle of 50º with the ground. If the hill is 60.0 m high, what distance will the runner have to travel to get to the top of the hill?

6. A surveyor is locating three points, M, N, and P, around an artificial pond. The distance from M to N is 728 m, and the distance from M to P is 638 m. The measure of 
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N is 57º.

a) Determine the measure of 
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M.

b) Determine the distance from N to P.

7. From the top of a building that is 55.0 m tall, the angle of depression to a car on the road is 35º. How far is the car from the base of the building?

8. An observer, who is 1.8 m tall, estimates that the angle of elevation of a cliff is 60º. The observer is 42.6 m from the base of the cliff. Determine the height of the cliff.

9. Todd and Scott leave the dining hall at a camp. They walk on two straight paths that diverge by 48º. Scott walks 580 m, and Todd walks 740 m. How far apart are they?

10. Louise works for a landscaping company. Her job involves measuring properties that are going to be landscaped. A triangular property has a 4.9 m side and a 5.8 m side, which meet at a 35º angle. Determine the perimeter of the property.


Answers:�1. 18.3 km	2. 78˚		3. 201.6 m	4. 57˚�5. 78.3 m 	6. a) 50˚ b) 582 m		7. 78.5 m	�8. 75.6 m	9. 556 m	10. 14.0 m��
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